[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |
0.8 r r r = 0.0% r r r ~ 08
: : : 009 : : :
.008]
.007
.006]
0.005
0.004]
0.003
0.002
0.001

0.7 0.7

0.6 0.6

fakerate vsr
pileup rate vs

0.5 0.5

duplicajessatevs

04F bt (gt il 0,008 e Preeeeee RERREERE e 0.4

...............................................

0.3 0.3

0.2 0.2

o

0.1

\
o (=) (=)
= -+ =1 =
© T + © © +
a4 + + [ 4 + T
13 +H 2 LR TR PP PP 571 M Wb - e
f f : L ! ! ! 4 f
- | -+ . . L . . . T Jri+l T
+ 4+
4

: 1 1 09: : 1
1072 10t 1 10 0? ? 1072 10t 1 10 0?
track ref. point r (cn%) track ref. point r (cml)

UéIVI TT original

DOM_TT newbranch_pLess
Fakeratevsy _,__ DQM_TT_newbranch_pLessMVACand

0.8 T T T T T ~ 0.0% T T T T T ~ 05
. . . . . 0 . . . . . 0
1/ USRS SN SO SO SRR A L A 045
S X011 SRR SRS SRR SRR SO € 04
L SEIIE SRR SRR 30.35
T R SIS ST SRR R 0.3
. . . ! . k=] . . . . .
0.4 ; B 11 T Y B & RRREEEE e 0.005F------ Feeeeee TR SRRRLTEE R SRR 0.25
0.004
0.003
: : : : : 0.002
L AR A 0.001
.:.... q L

fakerate vs z
al

SRRt { AU SIS RS S

leup

pI

X SRS S [ SN LN

uglicates

0.3

..............

0.2

Ratio
Ratio

30 20 -10 0 10 20 30 B0 =20 —10 0 10 20 30 P20 10 0 10 20 30
track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

Fake rate vs. simPVz | [ Duplicates Rate vs sim PV z | [ Pileup rate vs. sim PV z |
0.8 . . . . . ~ 0.0 . . . . . ~ 0.5

> : : : : : : 2
O.7F ] wesbeeemebersesdenes i de e R P A “E-_O-45

3.008F - DEPEEPES CRRPERRE R REETREFIEPPERR = 0.4
0.6 % 3 : : : : : @

X0y, SSSTT ST SIS SN SIS S 20.35
Q : : : : :
Rttt AL AU RS
%] N N N N H
9.005F oo e e e 30.25
D004 -+ evre e b P S
> N N N N N N
L L. R.003F++++orbeeseee bbb D 0.15F-} -
0.2p----- P e R ] E : : : : : :
R 0.002F+++--bereeseboeee b 0.4F- 4
i S A P P 0.001f -+ ++-keeneees AR e R AT 0.05F -+

0.5

fakerate vs Sim. PV z

0.4

0.3

R AR RARAS SR AN AR

o 1B o o QEmmrlerdo o 1B g !
T IS F : : : : : 5] : 4 :
4 o + a4 N : : : : : a4 o r o
Ittt BE SRR B e 0.5 -----+ R TR e R ]_—-----0?“- L {- ““:"-"’:.E [ S e
°®™p 5 0 5 0 15 20 %0 =40 =20 0 20 40 60 %55 0 5 0 15 20

éim. P\-/ z (cm) Sim. PV z (cm) éim. PV z (cm)



	Contents
	Page 1


